
Multiply by Positive Powers of Ten (B)Find each product.
8.7 × 10² = 3.628 × 10² =
5.5935 × 10³ = 7.07 × 10³ =
8.311 × 10³ = 5.9 × 10² =
8.4666 × 10³ = 3.3 × 10¹ =
8.99 × 10¹ = 0.5 × 10³ =
9.24 × 10² = 9.3 × 10³ =
0.702 × 10³ = 3 × 10² =
6.2 × 10² = 7.394 × 10¹ =
6.15 × 10² = 6.29 × 10³ =
9.62 × 10³ = 1.144 × 10² =
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Multiply by Positive Powers of Ten (B) AnswersFind each product.
8.7 × 10² = 870 3.628 × 10² = 362.8
5.5935 × 10³ = 5,593.5 7.07 × 10³ = 7,070
8.311 × 10³ = 8,311 5.9 × 10² = 590
8.4666 × 10³ = 8,466.6 3.3 × 10¹ = 33
8.99 × 10¹ = 89.9 0.5 × 10³ = 500
9.24 × 10² = 924 9.3 × 10³ = 9,300
0.702 × 10³ = 702 3 × 10² = 300
6.2 × 10² = 620 7.394 × 10¹ = 73.94
6.15 × 10² = 615 6.29 × 10³ = 6,290
9.62 × 10³ = 9,620 1.144 × 10² = 114.4
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